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Menu:
Input Data Important Output Logical Constructs
Sum / For Important Note
Defined Units:
K:=kip Force
K ft:=K ft kN m:=kNm K in:=Kin kN mm:=kNmm lb in:=1bf inMoment
1bf kN .
pcf = — kNpcm:= — kgpcm:=—= Density
ft m m
K 1bf kN kN .
K1f:i=— plf:=——  kNpm:=—  Kpi:i=— kNpmm := — Force/Unit Length
ft ft m mm
1bf K K 1bf
psf::—2 st::—2 Ksi =— kNpsm:=— psi == Pressure
ft ft in m in
1bf
pci = Subgrade
in Modulus
sfof:= 28t 1 p _ kPa Pressure per
Petp m Depth
1
pmcf :—z 1b:=1bf Force
ft
mi km .
mph = — kph :=— Velocity
hr hr
User Defined Functions: . . .
Check (arg):=if arg=1 |Check[2=3]=”...NG"| |Check[2§3]="...OK"|
Check :=" . . .0K" |CheC’k(2§é3]:"...OK"| |Check[322):”...OK"|
else
Check :="...NG"

Units



Input Data:

|b:=6.00 in|
|d:=5.995 in|
|t :=.269 in|
|w:=.235 in|
d, =7 in

t,:=0.375 in

Section Properties:
A:=2-b-t+(d-2-t)w

1

A=4.511in

Ix = [b d3—[b—w]-[d—2-t]3]

12

4
Ix=29.661n

sx’:6.—ld'[b'd3—(b—w]'(d_2‘t]3]

-

3
Sx=9.90 in

rx=2.561n

7 :% b-d —(b—w]-(d—2-t]2]

3
Zx =10.99 1in

1 2 2 2
Zy::z- 2:t+-\b —w |+d-w

Iy:—[2tb +(d—2-t)

L Iy
ry ==
Sy = [2 t-b —I—
1% G- l (

Reinforced Properties:
A':=A+2-d,

2-tl-d
IxX"'":=Ix+

171
Iy'=Iy4+——""—+2-
Yy Yy 17

3
Zy =4.92 in
]
4
Iy =9.69 in

ry=1.47 in

A'=9.761in

4
Ix'"=51.10 in

b+t
2

4
Iy'=63.09 in




Sx!' =

ZIx'"i=7x -

Sy'!

Zy' =2y -
Summary:

d=6.00 in
b=6.00 1in
t=0.27 in
w=0.241in

A=4.511in

3
Sx=9.90 in

3
Zx =10.99 in

4
Ix=29.661n

rx=2.561n

3
Sy =3.23 1in

3
Zy =4.9173 in

4
Iy =9.6899 in

ry =1.4657 in

3
Sx'=14.60 in

rx' =2.29in
3

Zx' =16.22 in

ry' =2.54 in

3
Sy'=18.69 in

3
Zy' =28.46 in

d=05.9951n
b=261in

t=0.269 in
w=0.2351in

2
A"'=9.7604 in
3
Sx'=14.5996 in
3
Zx' =16.2167 in

4
Ix'"=51.09851in
rx'=2.28811in

3
Sy'=18.694 in

3
Zy' =28.46 in

4
Ty' =63.0922 in
ry' =2.5425 in



Summary:



